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o Note: All questions are compulsory
e Marks are indicated agairmst each question in square brackets,

o Attempt all parts of a qliestion consecutively.

Ql. - U 1€02) [1.5+1.5=3]
a) Arrange the following growii@#es in increasing order: '

nlogn, log’n, Viogn , log jog n, 2", 2len

b) Find the growth rate of folldwing function:

Yo i—1) o

Q2. Find the worst case time comple}uty gf followmg function (Justify your answer): [CO2] [3]
M J"ﬁ»
function(int n) { . .=
int sum =
for{int i
if (i

int
0;
=0 ;
> ) .
sum= sum’ + l

else { |

“for(int kt0;3k<n; K +) '

_sum=sum-1; © o

'}

e
Q3. Wﬁté an algorithm that performifh¢ insertion of a new node into an existing singly linked }ist
in a given O(1) time. [CO4] [3]

Q4. We are given a pointer to a node (not the tail node) in a singly linked list. Delete that node
from the linked list. [CO4] 3]
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Q5.

a)

b)

[CO1] [1.5+1.5=3]
Find the output of following C program:
int main{)

{

struct str;

{
int =1;
char st [30];

struct str s{] = { {']_, "gtructl® } , {2’ "gtructa }w ;
"struct3n} }; )
printf ("%d %s", s{2].81, (*{s+2)).st);

}
What wili be the output of the C program (assume size of int #s.4"bytes)?

int mai()

{

struct employee

{

int empid[5];

int salary;

employee *g;
jemp;

rincf/sd %d%, sizzofilemplovee), sizeof (emp.empid)) ;
return 0; ’

}
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